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QUESTION 1

Examine the structure of the EMP table:

Nams NMull? Type

EMPNO NOT NULL NUMBER (4)
ENAME VARCHARZ2 (10)
SAL NUMBER (7,2)

Examine this code and statements:

CREATE FUNCTION get_sal (p_empno IN NUMEER) RETURN NUMBER RESULT CACHE IS
v_sal NUMBER;

BEGIN
SELECT sal INTO v_sal FROM emp WHERE empno = p_empno;
RETURN v_sal;

END get_ sal:

;ELECT empno, get_sal (empno) FROM emp
.iL'I‘ER FUNCTION get_s=sal COMPILE

;ELECT empno, get sal (empno) FROM emp
{IPDRTE emp SET sal = sal*l.l WHERE 1 = 2
;ELECT empno, get_sal (empno) FROM emp
;PDATE emp SET sal = sal*l.1

%ELECT empno, get_sal (empno) FROM emp

Which statement is true?

A. The result cache gets invalidated after the ALTER FUNCTION and again after the second UPDATE statement.
B. The result cache gets invalidated after the ALTER FUNCTION and again after each UPDATE statement.

C. The result cache gets invalidated only after the ALTER FUNCTION statement.

D. The result cache does not get invalidated at all since the RELIES_ON clause is not used.

E. The result cache gets invalidated only after each UPDATE statement.

F. The result cache gets invalidated only after the second UPDATE statement.

Correct Answer: D
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QUESTION 2
Which two are correct when migrating BasicFile LOBs to SecureFile LOBs by DBMS_REDEFINITION? (Choose two.)
A. Online redefinition can be done only at the table level.

B. Specify only BasicFiles LOB and SecureFiles LOB column names in parameter col_mapping of
DBMS_REDEFINITION.START_REDEF_TABLE.

C. Set the database initialization parameter db_securefile to NEVER.
D. During migration, specify the NOLOGGING storage parameter for any new SecureFiles LOB columns.
E. Online redefinition is the recommended method for migration of BasicFile LOBs to Secure LOBSs.

Correct Answer: BE

QUESTION 3

Which two types of query results cannot be stored in the query result cache? (Choose two.)
A. subquery results

B. results of a query having the SYSDATE function

C. results of a query having the GROUP BY clause

D. results of a query having the DATE data type in the WHERE clause

Correct Answer:. AB

QUESTION 4

Examine this code:
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CREATE PROCEDURE GET_PHONE (p_email VARCHAR2 DEFAULT NULL) AS
TYPE cv_emptyp IS REF CURSOR;
cv cv_emptyp:
v_phone employees.phone number%TYPE;
v_stmt VARCHARZ (400):
BEGIN
v_stmt := 'SELECT phone_number FROM employees WHERE email = ''' || p_email ||

rtrNe .
L

OPEN cv FOR v_stmt;
LOOP
FETCH cv INTO v_phone;
EXIT WHEN cviNOTFOUND;
DEMS_OUTPUT.PUT_LINE ('Phone: '||v_phone);:
END LOOP;
CLOSE cv;
EXCEPTION WHEN OTHERS THEN
DBMS OUTPUT.PUT LINE (SQLERRM):
DBMS OUTPUT.PUT LINE ('SQL statement: ' || v_stmt);
END;

Execute this PL/SQL block:

BEGIN
get_phone ('x'' UNION SELECT username FROM all users WHERE "'x''="'x"');
END;

Which is the correct category of SQL injection attack?
A. First Order Attack

B. Second Order Attack

C. Incorrect type handling

D. Lateral Injection

Correct Answer: B

QUESTION 5

You created a PL/SQL subprogram that successfully invokes an external C procedure. After a while, the database
administrator (DBA) drops the alias library schema object. The shared library exists in the system. Which statement is
true in this scenario?

A. The corresponding shared library is also removed from the system.

B. PL/SQL subprograms can be used to invoke the external C procedure.

C. The existing extproc process is terminated and a new extproc is started.

D. The PL/SQL subprogram that depends on the external C program becomes invalid.

Correct Answer: D
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